Addition and Subtraction – Set 1 
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Question 7

Jeffrey went to a cafe. The price list is shown below.

Item | Cake [Cookie | Coffee| Tea
Price | £3.15 | £2.75 | £2.25 | £2.05

Jeffrey had a cake and a coffee. How much change did he get back from £10?

a) £5.00
b) £5.40
o) £4.80

d) £4.60

OO OO0O0

e) £5.60
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Question 8

Gurleen has £559 in her savings account. She receives £32 for her birthday and adds it all into her savings.

In total, how much money has Gurleen got in her savings account now?

O a) £581
O b) £527
O o £597
O d) £59
(O e) £601




image9.png
Question 9

130.8+773="7

What is the answer to this calculation?

a) 2081
b) 2091
o 2073

d) 2071

O OO0OO0O0

e) 2011
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Question 10

What is £9.40 + £5.727?

O

O O OO0

£1412

£14.62

£15.62

£15.12

£15.60
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Question 5
Elsa made 165 friendship bracelets. She then gave away 42 of them to her closest friends|

How many bracelets does Elsa have left?

a) m3
b) 133
Q9 123
o 207
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Question 1

Thalia is climbing a mountain. She starts at 7509 feet above sea level and climbs up 450 feet before stopping for a break.

How far above sea level is Thalia when she stops for a break?

a) 7759 feet
b) 7859 feet
c) 8059 feet

d) 7959 feet

O OO0OO0O0

e) 8159 feet
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Question 2

Navin did a sponsored run for charity. He raised £44.20 from members of his family, £13.26 from his neighbours, and £30.00 from people at school.

How much money did he raise overall?

a) £88.80
b) £78.90
o) £57.46

d) £87.46

O O O O O

e) £75.64
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Question 3

Simeon goes shopping. He spends 95p on bread, £110 on milk and £2.40 on eggs.

How much does he spend in total?

(O a) £2.00
b) £3.65
) £4.05

d) £4.25

OO OO0

e) £4.45
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Question 4

What is 707 — 294.3?

O OO0OO0O0

3627

4127
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5137
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Question 5

Elsa made 165 friendship bracelets. She then gave away 42 of them to her closest friends

How many bracelets does Elsa have left?

O a) 13

O b) 133
O ¢ 123
O d 207
O e 127
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Question 6

A dress shop sells different accessories at different prices.

Bow £19.60
Ribbon £7.00
Frilly Skirt |£26.10

Tights £23.05

What is the difference in cost between the most expensive and least expensive item?

O a) £12:60
b) £5.50
£1910
d) £18.05

e) £1810

OO OO0




